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1)
Bidding Over the Strong Club
When an opponent has shown 16+ HCP there is little prospect of our side having a game contract based on high card values.  However it may be our part score or we may have a game contract if we have a distributional fit.  Thus we should construct our bidding to show our distribution.  It is rarely necessary for the defenders to show their strength.
An undisturbed strong club is an excellent mechanism for establishing the combined strength and distribution at a low level.  Most of the time the strong club pair will have the balance of values and the opposing pair are thus bidding primarily for disruptive reasons.  Our aims in bidding should be:-

a)
Disrupt the opponents responses to make it hard for them to describe their hands at a low level or know whether they have a fit.
b)
Take away bidding space, especially for the opener’s rebid.  The disadvantage of the strong club is that opener hasn’t shown any distributional features yet.  We should aim to make him do it at an uncomfortable level.

c)
Establish our level of fit so we know how high we can afford to bid.

Experience playing a strong club suggests that the disruption is greatest when there is no cue bid available.  For example consider responder’s situation after 1C(1NT) if 1NT shows both minors.  Responder can bid 2H/S to show 4-7 HCP with a 5 card suit, bid 2C/D to show 8+HCP with 5 hearts/spades and dbl with balanced values or length in a minor.  By contrast if 1NT shows an unspecified 2 suiter then responder needs all 4 two level bids to be natural.  This means that either his strength is less well defined or that pass/dbl must include some unbalanced hands where responder would prefer to have shown his suit.  Thus disruption is greatest if direct bids show no specific suit.  However showing no specific suit places much greater importance on having partnership agreements for the subsequent auction since the partnership must know how to find its best fit if the doubling starts.
The objective of taking away bidding space implies:-
a)
Overcaller should overcall as high as he dares when he has a long suit.

b)
Low level overcalls should preferably show major suit holdings, especially spades, since a major suit raise takes most space away from opener’s rebid.

c)
The responder should raise as high as he dares whenever he has support for overcaller’s suit.  Unspecified suit overcalls are of course a disadvantage from this perspective.

The need for disruption/space taking and the lack of a need to establish strength means that we should overcall on hands which wouldn’t be suitable for a bid over a natural opening.  Any shape suitable hand, even a zero count, should overcall.  Similarly at favourable vulnerability you don’t need much shape to bid - 4432 without short suit honours is quite suitable.  The risk of being doubled at a low level is fairly small as it is difficult for the strong clubbers to know how many trumps thay have between them as neither hand has yet shown any distributional feature.  There are however four considerations which should cause one to be wary in overcalling.
i)
Adverse vulnerability, ie VUL v NV.

ii)
Defensive cards in the short suits, especially holdings such as Qx or Qxx.
iii)
4333 distribution.

iv)
A hand good enough to suggest that it may be our hand (see below).

Two Examples:-
a)
For a Regular Partnership
Dbl/1D = Hearts/Spades in a hand unsuitable for making a higher bid, eg 5 card suit in a decent hand, or a single suited hand where bidding at the 2 level is too risky.
1H/1S/1NT = 2 unspecified suits with less than opening values (44 when NV v VUL, 54 otherwise).  1H = same colour, 1S = same rank, 1NT = S+D or H+C.

2 bids = weak jump overcall, bid suit or suit above.

2NT = 55+ two suiter with any 2 suits.

Notes:-

· The Dbl/1D which take no space show a specific major in the hope that partner can raise.
· The 1H/1S/1NT are bid whenever possible and aim primarily at disruption.

· The 2 bids give two options of similar probability.  This is preferable to showing length or shortage as length is much more probable (and hence will be assumed by the strong clubbbers).
· If you play against opponents who expect a rule about which suit you choose to bid with a weak jump overcall then you can base your rule on your spot cards, eg with an even number of odd spot cards bid the suit held, with an odd number of odd spot cards bid the suit below.

b)
For a Non-Regular Partnership

Dbl= H + S (44+).

1NT = S + a minor (9+ cards).

2NT = H + a minor (55).

Others natural.

Notes:

· The only anchor suits in the 2 suiters are majors which give the best chance for space taking raises.
· The natural bids don’t require any values but should usually be a 5 card suit.  The responder to the overcall will raise accordingly to his level of support (2 level with 3 card support, 3 level with 4 card support).
What if I have a good hand?
If you bid directly then partner will assume you have a weak hand.  The usual method for showing a good hand is to pass over the strong club then bid on the second round as though opener had opened with his 2nd bid - this includes using any artificial defence, eg Astro after 1C-1D-1NT or Ghestem after 1C-1D-1H/S.

2)
Responding to Partner's Overcall of a Strong Club
a)
A Natural Overcall, or a Bid showing a Natural Overcall, eg Dbl/1D=H/S Overcall

This is almost the same as when 1C is natural.  The only variation needed is to know what your unassuming cue bid is.  The most common treatment is to use the lowest minor suit bid, ie 2C over a 1D/H/S overcall, 2D over a 2C overcall.  A possible alternative is to use 1NT as the UCB especially if you are overcalling so weak that a 1NT response is not needed naturally.  If a 1NT response is natural the it needs to be stronger than normal if you are overalling on weaker hnads, eg 11-14 VUL or 14-17 NV.
b)
An Overcall with one or more Unspecified Suit
The critical requirement here is to be clear whether responses are natural or pass/correct.  It is essential that you have mechanisms for supporting one of the overcaller's suits and also for showing your own suit.  There are 3 common scenarios:-

i)
3rd Hand Passes

In this case it is possible that it is your hand.  If you wish to bid constructively then bid 1NT asking partner to bid his longest suit (or lower if 44), and for him to jump is he has a fair hand (unlikely).  Otherwise your objective will normally be to bid as high as you dare on a pass or correct basis.  For example if you are 1534 and partner has overcalled 1H to show 2 suits of the same colour then you should aim to bid 3C to make opener rebid at a high level.  Note that having all bids as pass/correct prevents you from preempting in your own suit.  If you wish to do this you either bid at game level or jump to 2NT (=preempt in own suit).  If you want to bid your own suit but don't wish to go as high as 2NT then you should pass (if you can afford a silly undoubled contract) or make a pass/correct bid and then bid your suit if doubled.
Note that the use of pass/correct responses introduces uncertainty for the strong clubbers as to the meaning of double or a cue bid if they are not well prepared.  This is precisely the scenario the defenders are seeking to create.
ii)
3rd Hand Doubles or Makes a Control Showing Response

Strong clubbers often use double to show a semi-positive, eg 4-7 HCP.  This means that the defenders are usually outgunned.  Thus the defenders don't need any constructive bids and can just seek to disrupt if possible or escape cheaply if they can't disrupt.  Disruption is best achieved by using pass/correct bids as above - hence most responses should be the same as when 3rd hand passes.  However for escaping cheaply the defenders have extra options when their contract has been doubled:-
· Rdbl can be used to say 'I want to play in my own suit, not yours'.  Overcaller just bids the next step and leaves it to 4th hand to bid his suit.  If 3rd hand makes a control showing response then Dbl can be used similarly to show that responder has his own suit (often useful for lead directing purposes) but he must of course be willing to play in his suit at minimum level.
· 1NT can still be used to ask for overcaller's longer suit but is no longer constructive.
· It is important that the defenders know what Pass means.  Does it mean 'I have this suit and suggest we play in it' or is it pass/correct, ie only pass if you have the suit.  The latter is recommended as it is often difficult for opener to pass a 4-7 HCP double when 3rd hand's distribution is completely unknown.  Thus passing is often the best chance of escape when you’re in trouble.  In the special case of the overcall being 1NT then Pass should be used to mean 'bid your longest suit'.
When any pass/correct bid is doubled then the overcaller should take care how he rescues when he doesn't hold the bid suit, eg with the black suits after (1C)1H(Dbl)P(P).  There are always at least 2 ways of rescuing, ie Rdbl and bidding, and these should be used to define the length in the lowest available suit (spades in the example).  Thus bidding=5 cards in the lowest available suit, Rdbl=only 4 cards in the lowest available suit.

Note for the Strong Clubbers.

Don't let the defenders get you confused.  Make sure that after a semi-positive double you know exactly to what level pass is forcing, what double means and what a bid in their bid suit means.

iii)
3rd Hand Makes a Natural Bid
The opportunity for disruption by confusion is no longer available.  Bidding is also more risky as the responding hand is better defined and opener is better placed to double.  Thus 4th hand should usually pass and will only want to bid with a good suit of his own or a big fit with partner.  Bids should be natural (not Pass/Correct) with Dbl asking overcaller to bid his longest suit.

Note the big difference between this scenario and case ii.  This reemphasises the need for the defenders to have discussed their continuations if they use overcalls with unspecified suits.

3)
Bidding After a Response to the Strong Club
After a Pass by 2nd hand and a response from 3rd hand the opportunity for the defenders to disrupt by confusion has been lost.  The aim now should be to take space away if possible so bids should be natural (as high as you dare - remember partner will usually be balanced otherwise he'd have bid so will usually have at least 2 card support).  Dbl and no-trump bids should preferably show defined majors in the hope that partner can take space by raising.  Thus after 1C-1D you might use something like:-
Dbl= H + S (9+ cards).

1NT = S + a minor (9+cards).

2NT = H + a minor (55).

Others natural.

However bidding here carries more risk and has less to gain so decent suits are needed.

4)
Bidding Over a Loose Diamond
Strong clubbers playing 5 card majors often have their 1D opening include some range of balanced hand and/or some hands with 5+ clubs.  Thus the 1D opening may have fewer than 3 cards and is sometimes called a 'loose' diamond.  It is similar to a 1C opening in some natural systems which is clubs or a weak NT.
Bidding over a loose diamond is similar to bidding over a natural diamond.  However it is necessary to be clear what various diamond bids mean, in particular:-
· An immediate 2D overcall.  Is it natural or a 2 suiter?  I recommend a 2 suiter - if you have diamonds then pass and bid on the next round.

· An immediate 3D overcall.  Is it a natural preempt or asking for a stop?  I recommend a natural preempt.  If you have a good hand with long clubs and no D stop then just bid 3NT - they probably won't lead a diamond.

· Is a double a take-out of diamonds or any 12-15 balanced (or any strong hand)?  I think it's probably best if it includes any 12-15 balanced but this treatment needs some work on the continuations.  It's simplest to just play double as a take-out of diamonds.  In this case a 2D response should be a cue bid (even if 3rd hand bids).

· What is the unassuming cue bid if partner overcalls?  I recommend that 2D is still a UCB even if 3rd hand bids.

It is important to be clear when these variations apply, eg what about a possible 3 card diamond suit in a 5 card major system.  I recommend that minors which may be 3 card are treated as though natural (they usually are) and that the variations above only apply when a minor suit opening may be less than 3 cards.

Remember that after (1D)P(P) the opponents may be in a silly contract so don't stretch to reopen unless you have a clear action.

5)
Bidding After a Response to a Loose Diamond
Again this is similar to bidding after a natural diamond with just a few variations.  In general I recommend bidding just as though right hand opponent had opened the bidding.  Thus after 1D-1H:-
· Dbl=T/O of hearts, not of both suits.  Thus a 2D response is natural and a 2H response is a cue bid.
· After a 1S or 2C overcall a 2D response is natural and 2H a UCB.

· A 2D overcall is natural not a cue bid.

· 2H and 2NT (and 3C if applicable) are 2 suited.  In particular 2NT=C+D.

Similarly after 1D-1NT any conventional defence should apply, eg Astro, thus you may not be able to bid 2C/2D naturally.  However (1D)P)(1NT)Dbl should be take-out of diamonds.

As with bidding directly over a loose diamond it is important to be clear when these variations apply.  Use the same rules as for direct actions.

6)
Bidding Over a Natural 2 Club Opening
This is similar to bidding over a weak two opening.  The points to be aware of are:-
· Be clear what a 3C cue bid means.  Is it stop asking, any 2 suits or a major 2 suiter?  I recommend a major 2 suiter.

· Don't use lebensohl after (2C)Dbl(P).

· In some strong club systems with 5 card majors the 2C opening is a weakness when it may contain 5 clubs and a 4 card major as the 2C opener may have preempted his own side.  After (2C)P(P) they may be in the wrong part score and occassionally will have missed a major suit game.  Thus don't stretch to protect if you don't have a clear action.

7)
Other Considerations

a)
Canape
Some strong club systems, eg Blue Club, use 4 card majors which may either be a weak NT or 4 cards with a longer second suit.  This doesn't require any special counter measures except an awareness of the hand types which may be held.  After 1H/S-1NT consider leading dummy's suit if you don't have a 5 card suit (and lead the honour if your holding is Qxx or Jxx).
b)
3 Suited Openings
Strong club systems more often use 2D or 2H as a 3 suited opening than natural systems do.  Against 3 suited openings I recommend not using any take-out doubles as you don't want to play in a 44 fit which is almost always breaking 41.  Instead play all doubles as penalties (typically a strong balanced hand).  Either defend (and lead trumps whatever your holding) or play in no-trumps or the short suit.  All suit bids should be natural.
c)
Inferences in the Play
Remember that when they don't open 1C they are limited to at most 16 (sometimes 15).  Also be aware that responder may pass a 1D/H/S with 6 or 7 HCP because of the limited opening.

